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1. Out of the four alternatives, choose the one

which expresses the right meaning of the

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_skG06uu8Qige


given word. 

Dubious

A. Doubtful

B. Disputable

C. Duplicate

D. Dangerous

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_skG06uu8Qige


2. Out of the four alternatives, choose the one

which expresses the right meaning of the

given word. 

Flabbergasted

A. Scared

B. Embarrassed

C. Dumbfounded

D. Humiliated

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_hZjBUCJT2225


View Text Solution

3. Out of the four alternatives, choose the one

which expresses the right meaning of the

given word. 

Eternal

A. Innumerable

B. Unmeasurable

C. Prolonged

D. perpetual

https://dl.doubtnut.com/l/_hZjBUCJT2225
https://dl.doubtnut.com/l/_RMmxhTe0AWaa


Answer: D

View Text Solution

4. Choose the word opposite in meaning to

the given word. 

Despair

A. Belief

B. Trust

C. Hope

D. Faith

https://dl.doubtnut.com/l/_RMmxhTe0AWaa
https://dl.doubtnut.com/l/_38GYHgjSZuFo


Answer: C

View Text Solution

5. Choose the word opposite in meaning to

the given word. 

In toto

A. Bluntly

B. Partially

C. Entirely

D. Strongly

https://dl.doubtnut.com/l/_38GYHgjSZuFo
https://dl.doubtnut.com/l/_sImDlez0sZV0


Answer: B

View Text Solution

6. Choose the word opposite in meaning to

the given word. 

Protean

A. Amateur

B. Catholic

C. Unchanging

D. Rapid

https://dl.doubtnut.com/l/_sImDlez0sZV0
https://dl.doubtnut.com/l/_RpTSbFC439hp


Answer: C

View Text Solution

7. A part of the sentence is underlined. Below

are given alternatives to the improve the

sentence. Choose the correct alternative. In

case no improvement is needed, your answer

is ‘d’ He  all the allegations against

him.

A. spurned

declined–––––––––

https://dl.doubtnut.com/l/_RpTSbFC439hp
https://dl.doubtnut.com/l/_rheYqa3UtmlR


B. refused

C. refuted

D. no improvement

Answer: D

View Text Solution

8. A part of the sentence is underlined. Below

are given alternatives to the improve the

sentence. Choose the correct alternative. In

https://dl.doubtnut.com/l/_rheYqa3UtmlR
https://dl.doubtnut.com/l/_DZYvIs69X1Ae


case no improvement is needed, your answer

is 'd'. It is time we  leave.

A. left

B. have to leave

C. would leave

D. no improvement

Answer: A

View Text Solution

< u > < /u >

https://dl.doubtnut.com/l/_DZYvIs69X1Ae


9. A part of the sentence is underlined. Below

are given alternatives to the improve the

sentence. Choose the correct alternative. In

case no improvement is needed, your answer

is ‘d’. We spent an hour discussing about his

character.

A. on his character

B. of his character

C. his character

D. no improvement

https://dl.doubtnut.com/l/_QeFy6XvCInFD


Answer: C

View Text Solution

10. Sentences are given with blanks to be filled

in with an appropriate and suitable word. Four

alternatives are suggested for each question.

Choose the correct alternative out of the four.

Are your really desirous …….. visiting Japan?

A. of

B. in

https://dl.doubtnut.com/l/_QeFy6XvCInFD
https://dl.doubtnut.com/l/_Ee4TfK9qsFd8


C. to

D. about

Answer: A

View Text Solution

11. Sentences are given with blanks to be filled

in with an appropriate and suitable word. Four

alternatives are suggested for each question.

Choose the correct alternative out of the four.

When Indians from the South move North,

https://dl.doubtnut.com/l/_Ee4TfK9qsFd8
https://dl.doubtnut.com/l/_WeoG6yuhPB7U


they find certain aspects of life quite ……… from

their own.

A. strange

B. separate

C. different

D. divergent

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_WeoG6yuhPB7U


12. Sentences are given with blanks to be filled

in with an appropriate and suitable word. Four

alternatives are suggested for each question.

Choose the correct alternative out of the

four.The sky is overcast, we ……………. The storm

will soon burst.

A. expect

B. hope

C. trust

D. suspect

https://dl.doubtnut.com/l/_v1AfBEvMt1p9


Answer: D

View Text Solution

13. The first and the last parts of the sentence

are numbered 1 to 6. The rest of the sentence

is spelt into four parts and named P, Q, R and

S. These four parts are not given in their

proper order. Read the parts and find out

which of the four combinations is correct.

Then find the correct answer. 

1. Early to bed, early to rise, makes a man

https://dl.doubtnut.com/l/_v1AfBEvMt1p9
https://dl.doubtnut.com/l/_ZJdQxEJjrpRO


healthy, wealthy and wise. 

P. But for the morning tea, I had to wait for

someone to get up before me. 

Q. This saying inspired me to rise early. 

R. That day I was the first to get up. 

S. One day I got up early in the morning. 

6. Then I realized that it was a waste of time to

get up early and wait for the morning tea.

A. QSRP

B. QPRS

C. PQRS

https://dl.doubtnut.com/l/_ZJdQxEJjrpRO


D. SPQR

Answer: A

View Text Solution

14. 1. A wood-cutter was cutting a tree on a

river bank. 

P. He knelt down and prayed. 

Q. His axe slipped and fell into the water. 

R. God Mercury appeared before him and

asked about the matter. 

https://dl.doubtnut.com/l/_ZJdQxEJjrpRO
https://dl.doubtnut.com/l/_REpSb9At1z55


S. He could not get it back as the river was very

deep. 

6. He dived into the water and came up with

an axe of good.

A. RPQS

B. RPSQ

C. QSRP

D. QSPR

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_REpSb9At1z55


15. 1. A dog stole a piece of meat from a

butcher’s shop. 

P. He barked in anger. 

Q. He ran to the jungle with the piece of meat 

R. He saw his reflection. 

S. He crossed a river on the way. 

6. He lost his piece of meat.

A. QPSR

B. QSRP

C. QPRS

https://dl.doubtnut.com/l/_REpSb9At1z55
https://dl.doubtnut.com/l/_MZMFC0AxTr7t


D. SRPQ

Answer: B

View Text Solution

16. In a certain code MONKEY is XDJMNL. How

is 'TIGER' written as?

A. QDFHS

B. SDFHS

C. SHFDQ

https://dl.doubtnut.com/l/_MZMFC0AxTr7t
https://dl.doubtnut.com/l/_cy2AXxCDzNHd


D. UJHFS

Answer: A

View Text Solution

17. Find the missing number from the given

responses. 

https://dl.doubtnut.com/l/_cy2AXxCDzNHd
https://dl.doubtnut.com/l/_xyV1v29rynXr


A. 31

B. 229

C. 234

D. 312

Answer: C

View Text Solution

18. If the day before yesterday was Thursday,

when will Sunday be?

https://dl.doubtnut.com/l/_xyV1v29rynXr
https://dl.doubtnut.com/l/_Z3Yglk0rg8e7


A. tomorrow

B. day after tomorrow

C. today

D. two days after today

Answer: A

View Text Solution

19. In a row of children Ravi is fourth from

right and Shyam is second from left. When

https://dl.doubtnut.com/l/_Z3Yglk0rg8e7
https://dl.doubtnut.com/l/_3zHdWrFHvzXZ


they interchange positions Ravi is ninth from

right. What will be Shyam position from left?

A. Fifth

B. Sixth

C. Seventh

D. Eighth

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_3zHdWrFHvzXZ


20. 

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_Ljtt3s6l8a2u


Answer: D

View Text Solution

21. Which represents carrot, food, vegetable ?

A. 

B. 

https://dl.doubtnut.com/l/_Ljtt3s6l8a2u
https://dl.doubtnut.com/l/_IF8lsTmORhnQ


C. 

D. 

Answer: A

View Text Solution

22. ''All the members of the Tennis club are

members of the badminton club too''. No

woman plays badminton''?

https://dl.doubtnut.com/l/_IF8lsTmORhnQ
https://dl.doubtnut.com/l/_m4qEcttUE60j


A. Some women play Tennis

B. No member of the Tennis club plays

badminton

C. Some women are members of the Tennis

club

D. No woman is a member of Tennis club

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_m4qEcttUE60j


23. Which number is wrong in the given

series? 

1, 9, 25, 50, 81

A. 1

B. 25

C. 50

D. 81

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_6z1o76mOrgp4


24. In the following question and stands for

any of the Mathematical signs at different

places, which are given as choices under each

question. Select the choice with the correct

sequence of signs which when substituted

makes the question as correct equation? 

A. 

B. 

C. 

24Δ4Δ5Δ4

X + =

= X +

+X =

https://dl.doubtnut.com/l/_VfqlAR4yMfzl


D. 

Answer: B

View Text Solution

= + X

25. Which answer figure is the exact mirror

image of the given figure when the mirror is

https://dl.doubtnut.com/l/_VfqlAR4yMfzl
https://dl.doubtnut.com/l/_l97R052MjZ3d


held from the right at PQ? 

https://dl.doubtnut.com/l/_l97R052MjZ3d


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_l97R052MjZ3d


https://dl.doubtnut.com/l/_l97R052MjZ3d

